AltGr+A=3

Shift + A = 31T

AltGr+1=3 Shift + Alt Gr+1=3%
AltGr+U=3 Shift + Alt Gr+ U=
Shift + Alt Gr + E =T AltGr+Y=1¢
Shift + Alt Gr + O = 31 Alt Gr + V= 3it

Alt Gr + A then Shift + M = 3

Alt Gr + A then Shift + H = 31:

K=% Shift + K =4
G=1 Shift + G =49
Shift+7Z =%

c=9 Shift + C=®
J=3 Shift + J =3
Z=3

Q=t Shift+ Q=73
W=g Shift+ W =g
Shift + N =11

T=d Shift + T=9¢[
D=% Shift + D =&
N=9

= Shift+ P=Th
B= Shift + B=9
Y=9 R=X

L=d V=9

Shift + S =91 X=9

S=9 H=%

Shift + L= K then F then X = &
AltGr+R=3%

A=
1=f: Shift + I =
U= SHIFT + U = £,
Shift + E = ¢ Shift +Y = ¢
Shift + O = £ Shift + V= it
Shift + M < Shift + H =




Shift + R

AltGr+, =¥

Shift + Alt Gr + . = 3T

F = ¢ (For Joint Letters)

Shift + Alt Gr +, =1




